A

=FOLD=

- e . == T # .
12 1 L | 10 2 9 | 8 | 7 0 6 | 5 | 4 0 3 | 2 1
A | :
421385-00|
o |o|lo|o
MR ER R PARTS LIST
3 1] ] ] 1 1 1 ;
“IZX|IZ|IZIZ|=|= o
=z |=z|=z|=z|=|=|= t
(¥9] [¥9] L L [FE ) [F¥ ) w '
QUANTITY DESIG. PART NO. DESCRIPTION =
1 600613-001 | Assem., Contactor, Thyristor, Air, 150A, 460/575V, w/TLS . (
()] 1 600520-007 | Assem., Contactor, Thyristor, Air, 300A, 460/575V, w/TLS ;
1 600610-004 | Assem., Contactor, Thyristor, Water, 600A, 460/575V, w/TLS
© 1 600598-006 | Assem., Contactor, Thyristor, Water, 1200A, 460/575V, w/TLS
1 600533-010 | Assem., Contactor, SCR, Water, 1800A, 460/575V, w/TLS
1 600533-011 | Assem., Contactor, SCR, Water, 2200A, 460/575V, w/TLS
1 600533-012 | Assem., Contactor, SCR, Water, 3200A, 460/575V, w/TLS | W——
11111 530021 Plate, Mounting, 1800/2200/3200A Contactors, (Part of 1800/
3200A Contactors)
©] 1 111 530034 Plate, Mounting, 1200/3200A Contactors, (Part of 1200/3200A :
Contactors) i
1)1 510222 Bracket, Mounting, 150/300A Contactors, (Part of 150/300?
Contactors
© 11111101 525035 Bracket, Mounting, 150/300/1200A Contactors, (Part of 150/
300/1200A Contactors)
114111 111]1 TLS 300020 Switch, Temperature Limit, (N.C.), (Part of Contactor) G
2|2 557084 Screw, Hex Socket Head Cap, #10-32 x 1" Long, (Part of
150/300A Contactors)
41 4 557085 Screw, Hex Socket Head Cap, #10-32 x 1-1/2" Long (Part of
600/1200A Contactors) s
41 4 557026 Lockwasher, #10 Medium Split, Brite (Part of
600/1200A Contactors)
@ 111 525035 Bracket, Mounting, 150/300 Contactors
—————————————————————— Bl 1l1f1)1}1 525136 Bracket, Mounting, 600/1200/1800/2200/3200A Contactors Sovin
E 4141212 557003 6-32 x 1/4 PHSMS, Phil, Brite J
(( (/ E) 4|41 4|4]42]|2 557015 #6 x 3/8 OD x 3/64 Thk. Flat Washer, Brite
i 15X S ———) (E) 4| 4|4)14]4a)2]2 557017 #6 Medium Split Lock Washer, Brite
‘ 2w 3? GERIKIK 557136 6-32 X 1/2 Socket Head Cap Screw
CUSTOMER g% CAUTION g3 | F—— WIRING DIAGRAM for EN1000, EN1001, & EN2000 EXTERNAL
CONNECTIONS | % 0o not overTiGHTEN — $8 SCR CONTACTOR CONTROL with INTERCONNECTION WIRING to SN N I W 421385-001 | Wiring Diagram, EN(X)-150A/300A/600A/1200A/1800A/2200A/3200A |
Sh U5, 36, OR TS3. & | CONNECTIONS EN(X)-150A/300A/600A,/1200A/1800A/2200A/3200A 2=
L38 - ————— — 88J _
.................. i (]
-ma@ \!\—_.f. [ 2@ 2@@ § [ CAUTION CAUTION A1l interconnection wiring for use between this control and an ENTRON External SCR Contactor Firing F
tr] i e R B b lal SE L L] Control is to be customer provided
T | o .(S "] . ) " M
_:—ﬂ;—-ﬂ o gE" _ R l_ é? _::u";s" >8 SEE NOTE 3. SEE NOTE 3. This control does NOT provide Hose Clamps, Hose, Water Flow Switch (WFS), Contactor-L1 Screw Lug, or
e = Y N - — 38 WIRING TO TERMINAL STRIP (TS1) BELOW WIRING TO TERMINAL STRIP (TS1) BELOW Contactor-Hl Screw Lug. These components MUST be provided for by customer.
. o ————__} e e S —— o ; E % ngﬂ?ﬁ;\fﬂggng OF WIRING TU' THE SHUUS ONLY PMT OF HlRIHG TU THE
Pl 9 = P. REFER TO APPLICABLE TERMINAL STRIP. REFER TO APPLICABLE
el A DANGER BEEE i 1% EN1000, EN1001, OR EN2000 EXTERNAL EN1000, EN1001, OR EN2000 EXTERNAL
. m- 'ém I:t_t s E] !:5 [ Sj !:5 {’9@ SCR CONTROL CONTROL WIRING DIAGRAM. SCR CONTROL CONTROL WIRING DIAGRAM. MANUFACTURING INSTRUCTIONS:
CUSTOMER SUPPLIED INTERCONNECTION WIRING % I ] % 230, 460, & 575 VAC. Operation“ - 380 VAC 0perati0n° For 600/1200A Contactors, mount the Contactor to Plate P/N 530021 with quantity four (4) screws
TO EN1000, EN1OO1, or EN2000 EXTERNAL = T - E 151 [5] - = s 777 P/N 557085 & four (4) Lockwashers P/N 557026 using the Contactor mounting holes provided on plate.
SCR CONTACTOR CONTROL WIRING DIAGRAM SECTION. lll‘] A HE R E 2lopdzzisl3 | o | & Jemal L Jermfernsfernz| 2l w | ws | we | G E] TSL 10 derual 11 femnn|cThaferme|crral "4/ 1 ws | he | ot g_] r—
ALL WIRING - #18 GAUGE MINIMUM. Zr (- -9 = Q2 o : 2 2 ~ %]
3 S 10 ' |>- | -]czo D:CDI_ | T~ T '—lc‘g
d S | 13 5= 7 L% z S35 L= 5 o z g2
i HAZARDOUS VOLTAGE | ey 2 2 g 22 g =ET 8 B2 B2 i SE= . B C|Bg
oAt CONTACTOR WIRING DIAGRAM i SEE NOTE 3. T L = 5 S 5 he n= = & 5 5 =
| B£3Z8% = EN(X)-150 (@ FROM ONE OR MORE SOURCES S WIRING TO TERMINAL STRIP (TS1) BELOW | 5 DE | z E LS = 385 38 = 5&o E SZ
-3 xF>S = EN(X)'—300 @ Turn off all voltage sources before 5 | SHOWS ONLY PART OF WIRING TO THE | = « 8 f 3 ?;'gz 3 * L] o * 3 ~E 3 *U QS
P o owm < - touching any components. > TERMINAL STRIP. REFER TO APPLICABLE — - - < N © < T2W < ot
mE 9999 L Electrical shock or flash will S EN1000, EN1001, OR EN2000 EXTERNAL — )2_ fo | Jg<c l ! Sge |
AR ggg!’: EE cause severe injury or death. SCR CONTROL CONTROL WIRING DIAGRAM. CUSTOMER SUPPLIED TLS . E | | f_Z_
Qo w Do not remove or cover this sign 4601428 - S INTERCONNECTION HARNESS WIRES. | I FOR 230, 460, [
L | (PART OF TLS INTERCONNECTION | (——— —|— — — — & 575 VAC | |
PART OF \ vy N HARMESS). SEE NOTE 4 /_."_ - = — ) - - = OPERATION ONLY. l _2‘ !
TS1-L2/CTH4 (230/460/575V) -] = : - < —— — — — o — —
CORTAGTOR @ OR TSI-HI/L2 (380V) S PLEASE REFER 10| CORRECT TS 1-CONTACTGR A0 360 VAC OPERATION.
- TION.
z (SEE NOTE 7) 5 CONTACTOR WIRING DIAGRAM HARNESS WIRES. - ?SgE:AﬁSEEERA ’
2 & H1 L2 g I SECTION FOR CONTROL CONTACTOR.
= w =
vl = 3
= — 1 SURGE RESISTORS R70 & R71 o = S T, = ——
== | wouwtep | L1 EHLCONTACTOR | Ligyi1-[R701- ARE SUPPLIED WITH EXTERNAL o
= ON PROVI SCR CONTACTOR CABINET OR o FFOLD=
— % | CONTACTOR g N0 FLAT PLATE CONTROL. =
w BRACKET | THIS CONTROL. _ =
=3 =
=8 _ 3
£° |LGO L1} 3
Mo
= ——— "\ —
© AN} (€15 o
CUSTOMER SUPPLIED INTERCONNECTION WIRING 1
'TO EN1000, EN1001, or EN2000 EXTERNAL H
SCR CONTACTOR CONTROL WIRING DIAGRAM SECTION. O
ALL WIRING - #18 GAUGE MINIMUM. 9
W R
= + - HAZARDOUS VOLTAGE
E r ac. o8 z CONTACIOR WIRING DLCGRAN FROM ONE OR MORE SOURCES NOTES
o 2E ¥8 =3 EN(X) -600 Turn off all voltage sources before © & CAUTI 0 N .
Ao == == P - EN(X)-]ZOU touching any components. 1. It is recommended that control wiring (i.e.: initiation, pressure switch, etc.)
=& ‘7’N$ 50 X i Electrical shock or flash will - be physically separated from the high voltage wiring (115 volts or higher).
— u'-, u'-, w bk .a v
R0 %% 55 R CaLISe B Y O oot s N 2. Al interconnection wiring for use between this control and an EN1000, EN100I, &
| = [T|D—PART oF N\ . = EN2000 External SCR Contactor in an "S" Cabinet or 11 x 11 Flat Plate corirol is
-1\ CONTACTOR w 1 to be provided for by customer. A1l interconnection wiring should be a minimum
Y 0 g size of #18 Gauge.
. L1 & H1 CONTACTOR LUGS ARE NOT —t z .
l\ % | K1 PROVIDED WITH THIS CONTROL. . S 3. In the EN1000, EN1001, & EN2000 External SCR Contactor control section of drawing,
|61 ) S WATER HOSE the 10 pin Terminal Strip (TS1) & the Terminal Strip Board (PCB2) do NOT show all
9 O] O |{[Cl0n—————— | | = BURST HAZARD wiring on these components.
- ; . : Refer to applicable EN1000, EN1001, or EN2000 External SCR Contactor control
AN "'|1_— G2 Ly | TS1-L2/CTH4 (230/4 e Cooling water must be flowin NOTE: Ref 1 bl
vl B : K2 | LT TR:%ELI'IQEER .OF Ts1 H{/sz(ggéi;sﬂ* T when gower is on 9 Wiring Diagram for additional wiring of these components.
3 . = ;
7 SEE PLUMBING m H2 (SEE NOTE 7) ] damage contrors. et and 4. EN(X)-150A/300A/600A/1200A/1800A/2200A/3200A:
R DIAGRAM "E" g Durm!remo\raorcnuerthiss-ign. 4501458 When Temperature Limit Switch {TLS} is used, TLS wires connect to Tsl-TLSlfﬁUXl
L2 u'_1 & TSl-EuNg.fCustaﬁr sﬂngEd interconnection uirigg for TLS should gebphysicaﬂy
separated from all other interconnection wiring. Jumper not required between
—— TEMPERATURE LIMIT SWITCH L Ryj_"' g1d SURGE RESISTORS R70 & R71 - / 8 TS1-TLS1/AUX1 and TS1-GND on Terminal Strip Board (PCB2). Refer to applicable ©
_“_R?f} ARE SUPPLIED WITH EXTERNAL bl .
P/N 300020 [SEE NOTE 4) SCR CONTACTOR CABINET OR EN]-GOO, ENIGOI, or EN2000 External SCR Contactor Wi ring D1agram for TLS |]LI!'I'I‘|JE'I" E DCS IN PIL: ADDED MOUNTING PLATES & HARDWARE FOR ASSEMBLIES DCs
. |ﬂ T ————r T —— on Terminal Stl"ip Board (PCBZ} g DANGER 6/20/13 ) i 6/20/13
| FLAT PLATE CONTROL. LUMSBEE G DIAGRAMS NOTE: TLS SCR & ThyT‘iStDl" will open at temperatures greater than or equa'l to 150°F. ® D ECN IN P/L 600520-007 WAS 600520-003 U?Egl;ﬂﬂ
2937
PLUMBING DIAGRAM "E" - 5. EN(X)-150A/300A/600A/1200A/1800A/2200A/3200A: NO TICE IN P/L 800598006 WAS 600598-004. RMVD "600/1200" FROM DPDII
CUSTOMER SUPPLIED INTERCONNECTION WIRING A DANGER 600A & 12004 CONTACTORS (@ E{?m;ea?ll gggnggzio?z g;mn& EEEVEog?z e;d sct’i ngAﬂ ring §irct11its ;otl_.l, I§2fH2. [: ZE;; 530021 DESCRIPTION AND FROM HEADER. ADDED TO PjL 530034 & [02.29.08
, e Tea athode leads. previously existing Surge
B, TO EN1000, EN10O1, or EN2000 EXTERNAL Resistors or Rectifiers must be disconnected prior to installation of this control. FOR SERVICE ON 530035.UPDATED LABELS TO CURRENT REV.
SCR CONTACTOR CONTROL WIRING DIAGRAM SECTION. ' CAUTION: Do NOT overtighten J5 & J6. THIS CONTROL gon | LN,G00/1200A XTOR W/D:XTOR-H1 TO WELDING XFWR-H1 | pec | DEC
ALL WIRING - #18 GAUGE MINIMUM. WFS B 2656 | CONNECTION FROM XTOR.L1 T0 CUSTOKER CONNECTION L1 4-10 (410
CONTACTOR WIRING 0T [ —|— 6. ENTRON does NOT supply Water Flow Switch (WFS), Hose Clamps, or Hose for any Water Contact Your Machine RSO TP SO IO e °"¢ f‘s’o
/ ]\ DIAGRAM I I Egolﬁg E'gzzicEgg?énggnigggi:Me Plumbing Diagram for typical routing of the hoses HAZARDOUS VOLTAGE ENTRON[):;:;(R)BLS e A EoN. ur;onﬂ\;eptnl'ag?“ésg{:mm XToR wn 600/1200A XTOR ?‘Zi_” 7‘?20_”
‘ EN(X)-1800 NOTE: A1l Contactor Hose Fittings are for 3/8" 1.D. Hose FROM ONE OR MORE SOURCES ' -
T T T I T EN(X)-ZZOO HAZARDOUS VOLTAGE l‘rl ] ’ ' ' Turn off all voltage sources before DIRECTLY: (864) 416-0190 P £ ORIGINAL REL EASE B
x| 1. —— EN(X)_3200 ROUTING 7. Refer to EN1000, EN1001, or EN2000 External SCR Contactor Wiring Diagram for wire touching any components. 601 HIGH TECH COURT
2| 8 @3 = FROM ONE OR MORE SOURCES [WITH WFs | connection from TS1-L2/CTH4 (230/460/575V) or TS1-H1/L2 (380V) to L2/H2 side of Welding Electrical shock or flash wil GREER, SC 29650 CHR
a‘n 53 ég_-' -%_ Turn c.aff all voltage sources before k J Transformer Primary. cause sgrﬁ:’i;:\vjyar):uﬁ:tg:::;h. o FAX# (864) 416_019?.—.0.03;; REV IAUTH DESCRIPTION BY BY
25 ey —— I har touch!ng any components.l P AL
LL 29 QL N - Electrical shock or flash will
Re 83 e e e S encatei o g s m
G | — )_c"‘“r“ oF WELDING #8064 F'z-’é':)'g;‘"eaf’ggg”" "B" gg\::wiring Diagram #421180-Series for EN1000-S(SCR), "S" Cabinet Controls. CONTROLS INC
ONTACTOR TRANSFORMER TS1-L2/CTH4 (230/460/575V) —smm \ s . 0A CONTACTORS See Wiring Diagram #421270-Series for EN1001-S(SCR), "S" Cabinet Controls. Je—
[j(J OR TS1-H1/L2 (380V) See Wiring Diagram #421280-Series for EN2000-5(SCR), "S" Cabinet Contrals. !
H? (SEE NOTE 7) % See Wiring Diagram #421210-017 for EN1000-FPX(SCR), 11 x 11 Flat Plate Control. SCALE m DRAWN_BY CHK'D BY APPROVM
SCR1-C1) 0| | Y (SCR1-G1) H1 — o See Wiring Diagram #421269-011 for EN1001-FPX(SCR), 11 x 11 Flat Plate Control. /z2-8 D, DEC
, 1 L2 w= See Wiring Diagram #421283-004 for EN2000-FPX(SCR), 11 x 11 Flat Plate Control. 98 /2-8-98
gl_ + o . SURGE RESTSTONS 675 & aFs S f‘d 1 See Wiring Diagram #421210-022 for EN1000-FPX(SCR)/232, 11 x 11 Flat Plate Control. TOLE &
‘f‘ cBIBla N WR71-[R70[1 ARE SUPPLIED WITH EXTERNAL He | | LES: t % REV LTR Y
by | - SCR CONTACTOR CABINET OR - ; —
o G c o FLAT PLATE CONTROL. ©8 - DECIMALS: ¢ .010
O { J L1 * FRACTIONS: + 1/64 DATE 6/20/113 DCS
/fscﬂz_ﬁz) . 1 SEE_PLUNBING ) WIRING DIAGRAM,
N \) | R (scre-C2) DIAGRAM "B / N © EN(X)- 150A/300A/600A{1200A 1800A/2200A/3200A A
g .!i:is& H1 CONTACTOR LUGS *  MINIMUM LENGTH HOSE hout C/ B [NET
TEMPERATURE LIMIT SWITCH NOT PROVIDED WITH PER CONNECTION - 18" e ol e e
PIN 300020 (SEE NOTE 4) THIS CONTROL. EN(X)-150 EN(X)-1800  EN(X)-3200 |—lEXl ASSM/USED ON | | -
x CONTACTOR HOSE FITTINGS EN(X)-300 EN(X)-1200 EN(X)-2200 8
3 | ARE FOR 3/8" 1.D. HOSE. N 4 2] 3 5 OOI
— | : [ ] I : |
i | Y
12 ENTRON 470046 r 1 10 e 9 8 / 6 S 4 Z 3 e 1
. L] “ ;



